Score

Answer any b questions from 1 to 8

Each carries 3 scores.

1.

L

s

[

-3

{63=18)
U=1{1,2,34,56) A {x:x isa
natural number less than 5} :

a) Write A in roster form. (n

b) If B = U such that A - B = {2, 4},
1)

(1

a) Ifsinx +cosx= 1, then value of sm2xis:

[0, 1, 42,21 (1

b) Find maximum value of sinx + cosx (1)

write B,

¢) Find A B.

¢) Find the range of 2sinx. n
Solve the quadratic equation

2 +x+1=0. (3)
ayfi+lpl=_

[m!, (n+ 1, (n? +apl, nin + 1. (1)

by 1f a![% +ﬂ SR EndT. @)

. Expand (1 +x)* using binomial theorem.

Hence evaluate {100 (3

. Lonsider the sequence 110, 107, 104,

101, s

a) Find *he sommaon difference n

b} Wrue the n* term of the above
sEqUence. (1

¢} Is 20 a term of the shove sequence 3
Jusrify. 1y

R
Score

1 st 8 cuee dansmemged aphmElage 6

agepElaT grmosasjms, 3 ampsd alims

(6=3=14)
LU={1,23456LA={x:a5md
mnmma@ggﬂ!mm&}
1) A g ismenmTe aCofyd dafkle
YT (1))

b) B o U mpaysae, A-B= [2,4} go
mpmand B eoamgs. )
ch A B aviemes. {1)

a) sinx + cosx = 1, Mpmont i,

clle gy ? ",

[0, 1, %2, 2 .
b) sinx + cosx agMaia s

gt alle @oRmyE. o )

) 2sinx s cosal soampe. (1}

3, 245+ 1 =0 ngem mesca syl
e ETEl s SO 3

4 8) o+ ol=__
[t o+ 1)L (ot mln + 10 (1)
J1 4]+ i
b) 6.[5—3!J— P, o 't
BT, 2)
5 {1 + x)* am eesuamiglon Awoe

putma el allayeflas]lsn e mna
groamaciigl (101) e ol doamye. (k)]
. 110, 107, 104, 101, ..........0grm agEn?
T o[
a) mrrrilflEom eumaTCyfs Sefmy
YRGBT
) amfiroeTn epparoyns -3 s

[

(1

AT, (1
©) oemeoerm agpamiing S aaooaans
20" agyrni adflavaulese. )
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7. There are two columns A and B. In
column A, eguations of some straight
lines are given and in column B, some
propertics of those lines in column A are
given, Match them correctly,

A B
1| 3x =4y + 1=0| a) | Perpendicular
1o "X axis
) iy | -3x-+dy+5=<0 | b)| Passes through
origin {0, 0)
=3
i) | - dy =0 |g) SM‘T
ivi I::li_-_s d) | Hawing ¥
? -5
intercept —
4
4
5 =
< lape 3
(2)

b) Aline having slope % passes through

the pednt {1, 2. Write the co-ordinate
of any other point lying on the same!
line,

-]

L IfU=1{1,2,3,4,5,6,7,8,5}
A=1{1.3,5}
B~ {24,568}
Werify that
i (AuB)Y=A'"B

i) (AnBY=A"UB'. )}

g

jE IR

Score
T, aewye g dleenrm namd eogeng e
daige A @ld ale smbursges
MADEL DA AL, d&oge B @l
danigo A ales smbcaspgips afla
e eemaao madeloltlearny dokye

S| B o e .

A B
i 3x + 4y + 1=0 | &) | X" seomrmind
mcerumamlflaagry
a)
1} | -dx+dy=5=0 |b) ageuanardmy (), Den
YOS DTS T,
3
i) [ Ix—dy=0 |e) =T"’°"'U""¥a
iv[3x=3 dy |y b 5
ey g
4
e) arlinf = E L
2)

by (1, 2} g mflogynfayes sy
1
l‘h—a&mm;up, aiflal - mpomyese
weiprunaing aaqon) mimodedg
B UoR MU agySymyss. (n

8.°U=1{1,2,3,456789)
A={1,3,5}
B={2,4.5,6,8}
mpauant
i) (AUBY=A'mB
i) (ArBY=A"UB wdlmasms

)T tacaoaileaye, 3)
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Answer any 6 questions from % to 16.
Fach carries 4 scores. (=d=14)

9. a) Which of the following function has
its domain R , the set of real numbers 7

[ i
L\";. ;,ll

1
i tanxJ (1

b} Find the domain of the function

: Faix+l
fla)= —————" (3)
(=) xl—fx+12
10. Forallne N, let P{n): 2 . 3
. n e ——
: - 1x2 2%3
1 1 n
e [y ——
3x4 nxin+1) (n+1)
a) Prove that P(1) is true. (1)

b Pm\ln:. that the staternent Pn) 1s tre
for all natural numbers using principle

of mathematical induction, (k)]

11. a) Write the complex number
= 2|’Dn51; -ris'in-T;l ina+ibk

LY
form. (n

b Find the square root of the above
complex number ‘Z". k1]

(WAL
Score
9 qymat 16 cuan a.niosymegiet age e

6 aqepeiie pemaaasmye. 4 sy olle.
(fxd=24)

9, a) maed oG sy amefle
muegu)onema R @onaanad ap
cumym o ag !

[y";. i, |x]. l!n}t-‘| (1]

Padx+l
b} f ]=:‘_ b
i J T

SR ngRm (3

agym npednmed

1 1
+ —F.

3x4

LNE Nug;&]f}

1

. Pin)—— +——
1l Lo (@ %43
1___ n
ax(n+1) (o+D

g addaie.

u) P1) svdlmonerns gyl nsiacanud ey
(1

b) acamasdlandd b poamocil]
Pin) aggn rgapt mos@dae wbl
e amglullanyn ™

1. a) Z= Il\cus%-*-isin%‘] g™
r

aamcondy msanan @+ ib aome
Tl ey, (1

by aoet (27 mugalnfal B0l
Tt s CURGDEIn S0, (3
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12, &) Write the value of "C,. (1)
b) A group conststs of 3 girls and 5 boys.
In how many ways can a team of
4 members be selecied if the team

has
i} no girl
it} atleast 2 pirls. 3
13, a) Find the number of terms in the
\l'll}
expansion of [% =9y . (1)
E g

b} Find the middle term of the above
expansion.
14, a) If the third term of a Geometric
Progression (G.P) is 4 and its sixth

1 form the G.P. @

b) Find :hczsum to infinity of the above

eI is

G (1)

15. In the figure, lines L, and L, intersect at
-the point B(3, 6) :
¥s

;:J] Xf:u.m t\ X

a) If A1, 0) is a point on line L, find

the slope of the line L. (1)
b) If £ABC = 907, find the equation of
line L. )

¢} Find the length of OC and OD. (1)

Score
12. a) "C, mges nlle agyejane. (1)
b} 3 semiagfene, 5 amenieygeg me

ey g wjn fieh 4 I MO IOEYT

T LSy Tymoonl amnearn

saanednldaarmy agum deloid 4

Sou IR EHTAEETI G0 T

1) i aaaieyded mpoame
Aol e T

11) eeafied o gl 2 £
Wmmaﬂﬁ 3)

13.8) | =- ﬁl‘ﬁnﬂr\.@ﬂaﬁmm
rvkm raEmRgET (1)

b} samd Wu il el snanamiael
autyie GO @
14, a) oy maogern epperiaioa (G.P)

qyrmoa adde 4 go, ER0co ks lﬂﬂ

oo a e el (3)

b} amat agperiiaios aemos Al
FTIBEINS M ng) R (1)
15, afpmeeled L, L, ngord consd B3, 64
gy enderyn et ruotnal sy
| ", B 4

)
a) Llugn'n cumafimel endleyrusent A1, )
agela L e aifol eomjs, (1)
by £ABC =907, mpwoed L, agym cum
TGS O GIRYE . (2)
¢) OC, OD agnrilumyas ofigsrecd
Aneirn, (y
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16. a) If x* = -16y is the equation of &
parabola, then find its
1) Focus
ii) Axis
ii1) Length of Latus rectum. (3)

b e= ; , may be the eceentricity of
{Parabola, circle, ellipse,

hyperbala). (1)

Answer any 3 questions from 17 to 20,

Each carrics 6 scores. {3=6=18)

17. a) Which of the following is a

principal solution of sin 3x =07
e T
2737476 m

vy lice gy ARE A0 3K
(el

=tandx . (2)
5% 4 cosSx

¢} Solve : sinx + sindx + sinfx = 0. (3)

Seore
16. a) x* = 16y manssjzon! uam
R IBIGETLIGES
i} canseami
1) o

iii) angmi andgamiadg mge agrio
AT 3)
b) E g gy ngyoiannutghic)

L
(ninozauog. oyammo, agelly), eeangd

aeog). (L]

i o
17 aymet 20 cupn eanayemgel o, 3

agEREElT gamac agyeime., 6 mpﬁ’l'-?,q-n
(36=18)

17. a) maers morliblesymaild sin 3x =0

L Lo L0
gy (1)

3543

A
wa |
£|a
CYE

' 1

sinx + sinSx
e = [N 3X. gy emg]
COSX + 008 5x i

. (2)
€) 8inx + sin3x + sin5x = 0 agm i

el maacusdnEEiang widlanite

PURN e 3)
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18, a) In the figure, shaded region is
represented by which of the following
inequalities {1

Dx+2yzhx22 yz|

) x+2y<6xz2y21
il y¥dy=6,x=2 vz
wix+tlyshxgd y2]

b} Solve the following system of
inequalities graphically :
x+2y<10
x+yzl
x-vs50
Ly )

¢) Write any point which satisfies
the above system of inequalities
mentioned in (b). (1)

(I

Score

1B, 4) =lmerriind el magy soame wol
il endilaaym anafo @omOmsE

S wll n
i

px+dyz6,xz2,yz1

i) x+2y<6x22,y21
i) x+2y26,x€2,y2 |

W) x+3ys6,x22, y2!

b) muae oo ol soym Aitmagg
EOTIG TG (0oad Prsamacdlal
AT SaI T,
x+2ys10
x+y2l
x-y=0
Lyzl 4)

<} amaft a.snaymmi (b) myaiole) Ao
ARTIOMEgls alsellanyTn agamElage
£ MUl TUoR )Ty, m
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1%, In the figure, ‘0" is the origin and the

circle passes through the points O, A and
B such that (04 = § unit, OB = 6 unit.

h
B
[
—
] [] . X
(0, 0}|

4) Find the centre and radius of the
cir-le. 2)
b) Write the equation of the above
circle. il
¢l Waite the equation of the line passes
through the points A and B. {1
d) Write the equation of the tangent 1o
the circle through the point A. (2)
20. Equation of an ellipse is 9x° + 437 = 36,
find :
) Lengths of major and minor axes of
the above ellipse. )
b) Co-ordinates of foci and vertices of
the above ellipse, )

¢} Lengthoflatus rectum and eccentricity
of the above ellipse. ()

Score
19, afgneried ryome meeseendmy 0" AL B
agerd ellmangleges sy dnitdgmy
eyssam (A = 8 egerlld OB = 6 wyerigpe
BT,
Y
&
——
0 8 A X
(0, )

a) yImGSIRIle TR Yot
I, A}
b} cuymmmiied cromoods o ng]wgm}a—.' 1)
c} A, B agrdl enflogpsnglayes ssmm),

LIV EST R BT R R TR
LTS (L]
d) Angemmiognileyms S80my sa ey mm
CLYTTTRIGR EXnOS S (MU, |
R ()
20. 9x7 + Ay = 36 agyrmid aay agell e
PO e TR LT

a) mrafac onsd mdss, fODmE o
agirrriicumyes ifgamdd eommge, (2)

) agefgflodd snooeampdd, aosghrom

agyriicy doamgse:. (2)
€} agelyed) eapml andga, agegbenic]
agTilog Eoamyd 2y
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